
Answers for Lesson 3-6, pp. 156-157   Exercises 

 
 

1. -8 2. 0.6 3. 1.46 

4. -2.44 5. -25.1 6. 1.3 

7. 1.2 8. 8.6 9. 4 

10. 9 days 11. 2.5m = 5.30; 
$2.12 

  

12. -11.04 13. -1.94 14. -56 

15. 0.374 16. 0.0804 17. 456 

18. 13.5 19. -708 20. -800 

21. 179 hits 22. 0.044 23. 2.3 

24. 30 25. -14.85 26. 0.9912 

27. -5.4 

28. a. Harry multiplied by 4 instead of dividing each side 
by 4. 

 b. Answers may vary. Sample: He could have compared 
his result, 324.8, to the estimate 81.2 ÷ 4 ≈ 20. 

29. -7.3n = 30.66; –4.2 30.     = 200.6; –902.7 

31. 
     

= 400.9; –942.115 

32. a. 20 hits 

 b. You can have only a whole number of hits. 

33. 0.08k = 59.22; 740.25 kWh 

34. 25 onions 

35. a. f = 3.28ℓ 

 b. 24.6 ft 

 c. about 1.8 m 

 d. 16.7 m2
 

 

 

 



Answers for Lesson 3-6, pp. 156-157 Exercises (cont.) 

 

36. x = 0.6, y = 0.7 (or x = 0.7, y = 0.6) 

37. about 2,870 hits 

 

 


